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T.shms.pDCREF[1-10] tdcMultiplicity
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Only the pDCREF2 has the two dominant tdc multiplicity
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Entries 199644

pDCREF1_traw

Entries 199644

Mean 2.479

Std Dev 195.8

Mean 1.016 5
10° 3 StdDev  0.128 10
i 1045
10
E T.shms.pDCREF1_tdcMultiplicity 103 é_
103 _ .shms.pl _tdcMultiplicity [
E 102;
10° 10F
:I 111 | 1111 | 1111 | 1111 | 1111 | 1111 ||||| L1l | L1l | L1l 1 | 1 1 1 1 | 1
05 1 156 2 25 3 35 4 45 5 55 0 3200
Questions:

1. Do we have to do the multiplicity cut if it is one dominant?
What dose it mean in this case?
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Questions: 
1. Do we have to do the multiplicity cut if it is one dominant? 
    What dose it mean in this case?
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